## Research Article

# On the Chebyshev Polynomial for a Certain Class of Analytic Univalent Functions 

Shahram Najafzadeh ( ${ }^{1}$ and Mugur Acu (1) ${ }^{\mathbf{2}}$<br>${ }^{1}$ Department of Mathematics, Payame Noor University, Post Office Box: 19395-3697 Tehran, Iran<br>${ }^{2}$ Department of Mathematics and Informatics, Faculty of Science, Lucian Blaga University of Sibiu, Street Dr. I. Ratiu 5-7, 550012 Sibiu, Romania

Correspondence should be addressed to Mugur Acu; acu_mugur@yahoo.com
Received 1 September 2021; Accepted 9 October 2021; Published 2 November 2021
Academic Editor: Wasim Ul-Haq
Copyright © 2021 Shahram Najafzadeh and Mugur Acu. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

In this work, by considering the Chebyshev polynomial of the first and second kind, a new subclass of univalent functions is defined. We obtain the coefficient estimate, extreme points, and convolution preserving property. Also, we discuss the radii of starlikeness, convexity, and close-to-convexity.

## 1. Introduction

Let $\Delta$ be the open unit disk $\{z \in \mathbb{C}:|z|<1\}$ and $\mathscr{A}$ be the class of analytic functions in $\Delta$, satisfying the normalized conditions:

$$
\begin{gather*}
f(0)=0 \\
f^{\prime}(0)=1 \tag{1}
\end{gather*}
$$

Thus, each $f \in \mathscr{A}$ has the following Taylor expansion:

$$
\begin{equation*}
f(z)=z+\sum_{k=2}^{\infty} a_{k} z^{k} \tag{2}
\end{equation*}
$$

Furthermore, by $\mathcal{S}$, we shall denote the family of all functions in $\mathscr{A}$ that are univalent in $\Delta$. Denote by $\mathcal{N}$ the subclass of $\mathscr{A}$ consisting of functions with negative coefficients of the type:

$$
\begin{equation*}
f(z)=z-\sum_{k=2}^{\infty} a_{k} z^{k},\left(a_{k} \geq 0, z \in \Delta\right) \tag{3}
\end{equation*}
$$

Many researchers deal with orthogonal polynomials of Chebyshev, see [2, 3] and [4]. The Chebyshev polynomials of first kind and the second kind are defined by

$$
\begin{align*}
T_{k}(t) & =\cos k \theta \\
U_{k}(t) & =\frac{\sin (k+1) \theta}{\sin \theta} \tag{4}
\end{align*}
$$

respectively, where $-1<t<1, t=\cos \theta$, and $k$ is the degree of polynomial.

The polynomial in (1) is connected by the following relations:

$$
\begin{align*}
& \frac{d T_{k}(t)}{d t}=k U_{k-1}(t), T_{k}(t)=U_{k}(t)-k U_{k-1}(t)  \tag{5}\\
& 2 T_{k}(t)=U_{k}(t)-U_{k-2}(t) \tag{6}
\end{align*}
$$

We note that if $t=\cos \theta,(-\pi / 3<\theta<\pi / 3)$, then

$$
\begin{equation*}
H(z, t)=\frac{1}{1-2 z \cos \theta+z 2}=1+\sum_{k=1}^{\infty} \frac{\sin (k+1) \theta}{\sin \theta} z^{k},(z \in \Delta) \tag{7}
\end{equation*}
$$

Also, we have

$$
\begin{equation*}
H(z, t)=1+U_{1}(t) z+U_{2}(t) z^{2}+\cdots,(z \in \Delta,-1<t<1), \tag{8}
\end{equation*}
$$

where

$$
\begin{equation*}
U k-1(t)=\frac{\sin (k \arccos t)}{\sqrt{1-t^{2}}},(k \in \mathbb{N}) \tag{9}
\end{equation*}
$$

are the Chebyshev polynomials of the second kind, see [5, 6] and [7].

The generating function of the first kind of Chebyshev polynomial $T_{k}(t), t \in[-1,1]$ is given by

$$
\begin{equation*}
\sum_{k=0}^{\infty} T_{k}(t) z^{k}=\frac{1-t z}{1-2 t z+z^{2}} \tag{10}
\end{equation*}
$$

For more details, see [8, 9] and [10].
For two functions $f$ and $g$, analytic in $\Delta$, we say that $f$ is subordinate to $g$ in $\Delta$, written

$$
\begin{equation*}
f(z)<g(z),(z \in \Delta) \tag{11}
\end{equation*}
$$

if there exists a Schwarz function $w$ which is analytic in $\Delta$ with

$$
\begin{gather*}
w(0)=0  \tag{12}\\
|w(z)|<1,(z \in \Delta)
\end{gather*}
$$

such that $f(z)=g(w(z)),(z \in \Delta)$, see [11].
Also, if $g$ is univalent in $\Delta$, then

$$
\begin{equation*}
f(z)<g(z),(z \in \Delta) \Longleftrightarrow f(0)=g(0), f(\Delta) \subset g(\Delta) \tag{13}
\end{equation*}
$$

Furthermore, if $f(z)=z-\sum_{k=2}^{\infty} a_{k} z^{k}$ and $g(z)=z-\sum_{k=2}^{\infty}$ $b_{k} z^{k}$, then the Hadamard product (or covolution) of $f$ and $g$ is defined by

$$
\begin{equation*}
(f * g)(z)=z-\sum_{k=2}^{\infty} a_{k} b_{k} z^{k}=(g * f)(z) \tag{14}
\end{equation*}
$$

Now, we consider the following functions which are connected with the Chebyshev polynomial of the first and second kind:

$$
\begin{align*}
\mathscr{C}_{1}(z) & =1+(1+\cos \theta) z-\frac{1-t z}{1-2 t z+z 2}  \tag{15}\\
\mathscr{C}_{2}(z) & =1+(2 \cos \theta+1) z-H(z, t)  \tag{16}\\
Q(z) & =\left[\left(\mathscr{C}_{1} * \mathscr{C}_{1}\right) *\left(\mathscr{C}_{2} * \mathscr{C}_{2}\right) * f\right](z) \tag{17}
\end{align*}
$$

where $f(z)=z-\sum_{k=2}^{\infty} a_{k} z^{k} \in \mathcal{N}$ and "*" denotes the Hadamard product.

With a simple calculation we conclude that $Q(z)$ belongs to $\mathcal{N}$ and it is of the form:

$$
\begin{equation*}
Q(z)=z-\sum_{k=2}^{\infty}\left[\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right]^{2} a_{k} z^{k} \tag{18}
\end{equation*}
$$

where $-\pi / 3<\theta<\pi / 3$ and $t=\cos \theta$.

Definition. For $M=\alpha+(\beta-\alpha)(1-\gamma),-1 \leq \beta<\alpha \leq 1,0<$ $\gamma<1$, and $0 \leq \lambda \leq 1$, we say that $Q(z)$ of the form (18) is a member of $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$ if the following subordination relation holds

$$
\begin{equation*}
\frac{z Q^{\prime}(z)}{f_{\lambda}(z)} \prec \frac{1+M z}{1+\alpha z} \tag{19}
\end{equation*}
$$

where $f_{\lambda}(z)=(1-\lambda) z+\lambda f(z), f(z) \in \mathcal{N}$.
Equation (19) is equivalent to the following inequality:

$$
\begin{equation*}
\left|\frac{\left(z Q^{\prime}(z) / f_{\lambda}(z)\right)-1}{M-\alpha z\left(Q^{\prime}(z) / f_{\lambda}(z)\right)}\right|<1 \tag{20}
\end{equation*}
$$

## 2. Main Results

In this section, we introduce a sharp coefficient bound for the class $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$. Also, the convolution preserving property is investigated.

Theorem 1. The function $Q(z)$ of form (18) belongs to $\mathscr{E}_{\gamma}^{\lambda}$ $(\alpha, \beta)$ if and only if

$$
\begin{align*}
\sum_{k=2}^{\infty} & {\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)\right] a_{k} } \\
& \leq(\beta-\alpha)(1-\gamma) . \tag{21}
\end{align*}
$$

Proof. Let the inequality (21) holds and $z \in \partial \Delta=\{z \in \mathbb{C}:|z|$ $=1\}$. We have to prove that (19) or equivalently (20) holds true. But we have

$$
\begin{align*}
Y= & \left|z Q^{\prime}(z)-f_{\lambda}(z)\right|-\left|M f_{\lambda}(z)-\alpha z Q^{\prime}(z)\right| \\
= & \left\lvert\, z-\sum_{k=2}^{\infty}\left[\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right]^{2} k a_{k} z^{k}-(1-\lambda) z-\lambda\right. \\
& \cdot\left(z-\sum_{k=2}^{\infty} a_{k} z^{k}\right)|-| M\left((1-\lambda) z+\lambda\left(z-\sum_{k=2}^{\infty} a_{k} z^{k}\right)\right) \\
& \left.-\alpha z+\sum_{k=2}^{\infty}\left[\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right]^{2} \alpha k a_{k} z^{k} \right\rvert\, \\
= & \left|-\sum_{k=2}^{\infty}\left[\left(\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right) 2 k-\lambda\right] a_{k} z^{k}\right| \\
& -\left|(M-\alpha) z-\sum_{k=2}^{\infty}\left[\lambda M-\alpha k\left(\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}\right] a_{k} z^{k}\right| . \tag{22}
\end{align*}
$$

By putting $z \in \partial \Delta$ and

$$
\begin{equation*}
\lambda M-\alpha k\left(\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}=\lambda(M-\alpha)-\left[k\left(\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(\theta)\right)^{2}-\lambda\right] \alpha, \tag{23}
\end{equation*}
$$

the above expression reduces to

$$
\begin{equation*}
Y \leq\left|\sum_{k=2}^{\infty}\left[\left(k\left(\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)(1-\alpha)+\lambda(M-\alpha)\right] a_{k}-(M-\alpha)\right| . \tag{24}
\end{equation*}
$$

Since $H-\alpha=(\beta-\alpha)(1-\gamma)$, by using inequality (21), we get $Y \leq 0$, so $Q \in \mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$.

To prove the converse, let $Q \in \mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$, thus

$$
\begin{equation*}
\left|\frac{\left(z Q^{\prime}(z) / f_{\lambda}(z)\right)-1}{M-\alpha z\left(Q^{\prime}(z) / f_{\lambda}(z)\right)}\right|=\frac{\left|z-\sum_{k=2}^{\infty}\left(\sqrt{k}(\sin (k+1) \theta / \sin \theta) T_{k}(t)\right)^{2} a_{k} z^{k}-(1-\lambda) z+\lambda f(z)\right|}{\left|M((1-\lambda) z+\lambda f(z))-\alpha z\left(1-\sum_{k=2}^{\infty}\left(\sqrt{k}(\sin (k+1) \theta / \sin \theta) T_{k}(t)\right)^{2} a_{k} z^{k}-1\right)\right|}<1 \tag{25}
\end{equation*}
$$

for all $z \in \Delta$. By $\operatorname{Re}(z) \leq|z|$ for all $z \in \Delta$, we have
$\operatorname{Re}\left\{\frac{\sum_{k=2}^{\infty}\left[\left(\sqrt{k}(\sin (k+1) \theta / \sin \theta) T_{k}(t)\right)^{2}-\lambda\right] a_{k} z^{k}}{(M-\alpha) z-\sum_{k=2}^{\infty}\left[\lambda M-\alpha\left(\sqrt{k}(\sin (k+1) \theta / \sin \theta) T_{k}(t)\right)^{2}\right] a_{k} z^{k}}\right\}<1$.

By letting $z \longrightarrow 1$, through positive values and choose the values of $z$ such that $z Q^{\prime}(z) / f_{\lambda}(z)$ is real, we have

$$
\begin{equation*}
\sum_{k=2}^{\infty}\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)(1-\alpha)+t(M-\alpha)\right] a_{k} \leq M-\alpha, \tag{27}
\end{equation*}
$$

and this completes the proof.
Remark. We note that the function:

$$
\begin{equation*}
V(z)=z-\frac{(\beta-\alpha)(1-\gamma)}{\left[(\sqrt{2}(\sin 3 \theta / \sin \theta) \cos 2 \theta)^{2}-\lambda\right](1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)} z^{2}, \tag{28}
\end{equation*}
$$

shows that the inequality (21) is sharp.

Theorem 2. Let

$$
\begin{align*}
& Q_{1}(z)=z-\sum_{k=2}^{\infty}\left[\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right]^{2} a_{k} z^{k},  \tag{29}\\
& Q_{2}(z)=z-\sum_{k=2}^{\infty}\left[\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right]^{2} b_{k} z^{k}, \tag{30}
\end{align*}
$$

be in the class $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$, then $\left(Q_{1} * Q_{2}\right)(z)$ belongs to $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \tilde{\beta})$, where

$$
\begin{equation*}
\tilde{\beta} \leq \alpha+\frac{(\beta-\alpha) 2(1-\gamma) X(1-\alpha)}{(X(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma))^{2}-\lambda(1-\gamma)^{2}(\beta-\alpha)^{2}}, \tag{31}
\end{equation*}
$$

$$
\begin{equation*}
X=\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda . \tag{32}
\end{equation*}
$$

Proof. It is sufficient to show that

$$
\begin{equation*}
\sum_{k=2}^{\infty}\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)+\lambda\right] a_{k} b_{k} \leq 1 . \tag{33}
\end{equation*}
$$

By using the Cauchy-Schwarz inequality, from (21), we obtain
$\sum_{k=2}^{\infty}\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)+\lambda\right] \sqrt{a_{k} b_{k}} \leq 1$.

Here, we find the largest $k$ such that
$\sum_{k=2}^{\infty}\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)-\lambda\right] \sqrt{a_{k} b_{k}} \leq 1$,
or equivalently for $k \geq 2$,

$$
\begin{equation*}
\sqrt{a_{k} b_{k}} \leq \frac{[X(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)](\tilde{\beta}-\alpha)}{[X(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)](\beta-\alpha)}, \tag{36}
\end{equation*}
$$

where $X$ is given by (32).
This inequality holds if

$$
\begin{equation*}
\frac{(\beta-\alpha)(1-\gamma)}{X(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)} \leq \frac{[X(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)](\tilde{\beta}-\alpha)}{[X(1-\alpha)+\lambda(\tilde{\beta}-\alpha)(1-\gamma)](\beta-\alpha)}, \tag{37}
\end{equation*}
$$

or equivalently
$\tilde{\beta} \leq \alpha+\frac{(\beta-\alpha)^{2}(1-\gamma) X(1-\alpha)}{(X(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma))^{2}-\lambda(1-\gamma)^{2}(\beta-\alpha)^{2}}$,
where $X$ is given by (32), so the proof is complete.
3. Geometric Properties of $\mathscr{C}_{\gamma}^{\lambda}(\alpha, \beta)$

In this section, we show that the class $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$ is a convex set. Also, the radii of starlikeness, convexity, and close-toconvexity are obtained.

Theorem 3. The class $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$ is a convex set.
Proof. It is enough to prove that if for $j=1,2, \cdots, m$,

$$
\begin{equation*}
Q_{j}(z)=z-\sum_{k=2}^{\infty}\left[\frac{\sin (k+1) \theta}{\sin \theta}\right]^{k} a_{k, j} z^{k} \tag{39}
\end{equation*}
$$

be in $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$, then the function

$$
\begin{equation*}
F(z)=\sum_{j=1}^{m} d_{j} Q_{j}(z) \tag{40}
\end{equation*}
$$

is also in $\mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$, where $\sum_{j=1}^{m} d_{j}=1$. But, we have

$$
\begin{align*}
F(z) & =z-\sum_{k=2}^{\infty}\left(\sum_{j=1}^{m}\left(\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2} d_{j} a_{k, j}\right) z^{k}  \tag{41}\\
& =z-\sum_{k=2}^{\infty}\left(\frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}\left(\sum_{j=1}^{m} d_{j} a_{k, j}\right) z^{k} .
\end{align*}
$$

Since by Theorem 1,

$$
\begin{align*}
\sum_{k=2}^{\infty} & {\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)\right]\left(\sum_{j=1}^{m} d_{j} a_{k, j}\right) } \\
= & \sum_{j=1}^{m}\left(\sum _ { k = 2 } ^ { \infty } \left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\right.\right. \\
& \left.\cdot(1-\alpha)+\lambda(\beta-\alpha)(1-\gamma)] a_{k, j}\right) d_{j} \\
& <\sum_{j=1}^{m}(\beta-\alpha)(1-\gamma) d_{j}=(\beta-\alpha)(1-\gamma)\left(\sum_{j=1}^{m} d_{j}\right) \\
= & (\beta-\alpha)(1-\gamma), \tag{42}
\end{align*}
$$

so, $F(z) \in \mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$. Hence, the proof is complete.
Theorem 4. Let $f \in \mathscr{E}_{\gamma}^{\lambda}(\alpha, \beta)$, then
(i) $f$ is a starlike of order $\theta_{1}\left(\cos \theta_{1}<1\right)$ in $|z|<R_{1}$ where

$$
R_{1}=\inf _{k}\left\{\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\right.\right.
$$

$$
\begin{equation*}
\left.\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)+\lambda\right]\left(\frac{1-\theta_{1}}{k-\theta_{1}}\right\}^{1 / k} \tag{43}
\end{equation*}
$$

(ii) $f$ is convex of order $\theta_{2}\left(0 \leq \theta_{2}<1\right)$ in $|z|<R_{2}$ where

$$
\begin{gather*}
R_{2}=\inf _{k}\left\{\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\right.\right. \\
\left.\left.\cdot\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)+\lambda\right]\left(\frac{1-\theta_{2}}{k\left(k-\theta_{2}\right)}\right)\right\}^{1 / k-1} \tag{44}
\end{gather*}
$$

(iii) $f$ is close-to-convex of order $\theta_{3}\left(0 \theta_{3}<1\right)$ in $|z|<R_{3}$, where

$$
\begin{gather*}
R_{3}=\inf _{k}\left\{\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\right.\right. \\
\left.\left.\cdot\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)+\lambda\right]\left(\frac{1-\theta_{3}}{k}\right)\right\}^{1 / k-1} \tag{45}
\end{gather*}
$$

Proof.
(i) For $0 \leq \theta_{1}<1$, we need to show that

$$
\begin{equation*}
\left|\frac{z f^{\prime}}{f}-1\right|<1-\theta_{1} \tag{46}
\end{equation*}
$$

In other words, it is sufficient to show that

$$
\begin{equation*}
\left|\frac{z f^{\prime}(z)}{f(z)}-1\right|=\left|\frac{\sum_{k=2}^{\infty}(k-1) a_{2} z^{k-1}}{1-\sum_{k=2}^{\infty} a_{k} z^{k-1}}\right| \leq \frac{\sum_{k=2}^{\infty}(k-1) a_{k}|z|^{k-1}}{1-\sum_{k=2}^{\infty} a_{k}|z|^{k-1}}<1-\theta_{1} \tag{47}
\end{equation*}
$$

$$
\begin{equation*}
\sum_{k=2}^{\infty}\left(\frac{k-\theta_{1}}{1-\theta_{1}}\right) a_{k}|z|^{k-1}<1 \tag{48}
\end{equation*}
$$

By (21), it is easy to see that above inequality holds if
$|z|^{k-1} \leq\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)+\lambda\right]\left(\frac{1-\theta_{1}}{k-\theta_{1}}\right)$.

This completes the proof of (i).
(ii) Since $f$ is convex if and only if $z f^{\prime}$ is starlike, we get the required result (ii)
(iii) We must show that $\left|f^{\prime}(z)-1\right| \leq 1-\theta_{3}$. But

$$
\begin{equation*}
\left|f^{\prime}(z)-1\right|=\left|\sum_{k=2}^{\infty} k a_{k} z^{k-1}\right| \leq \sum_{k=2}^{\infty} k a_{k}|z|^{k-1} \tag{50}
\end{equation*}
$$

Thus, $\left|f^{\prime}(z)-1\right|<1-\theta_{3}$ if $\sum_{k=2}^{\infty}\left(k / 1-\theta_{3}\right) a_{k}|z|^{k-1} \leq 1$. But by Theorem 1, the above inequality holds true, if

$$
\begin{equation*}
|z|^{k-1} \leq\left[\left(\left(\sqrt{k} \frac{\sin (k+1) \theta}{\sin \theta} T_{k}(t)\right)^{2}-\lambda\right)\left(\frac{1-\alpha}{(\beta-\alpha)(1-\gamma)}\right)+\lambda\right]\left(\frac{1-\theta_{3}}{k}\right) . \tag{51}
\end{equation*}
$$

Hence, the proof is complete.

## 4. Conclusions

Univalent functions have always been the main interests of many researchers in geometric function theory. Many studies recently related to Chebyshev polynomials revolved around classes of analytic normalized univalent functions.

In this particular work, the geometric properties are obtained for functions in more general class using the Chebyshev polynomials associated with a convolution structure. In this paper, when the parameters being complex numbers could be subject to further investigation. Also, by changing the operator and extending, it may be for future studies.

## Data Availability

No data were used to support this study.

## Conflicts of Interest

The authors declare that there is no conflict of interest regarding the publication of this paper.

## Authors' Contributions

All authors contributed equally to and approved the final manuscript.

## References

[1] P. L. Duren, Univalent Functions, Grundlehren der mathematischen Wissenschaften 259, Springer-Verlag, New York, Berlin, Heidelberg, Tokyo, 1983.
[2] Ş. Altinkaya and S. Yalçin, "On the Chebyshev polynomial bounds for classes of univalent functions," Khayyam Journal of Mathematics, vol. 2, no. 1, pp. 1-5, 2016.
[3] Ș. Altinkaya and S. Yalçin, "On the Chebyshev coefficients for a general subclass of univalent functions," Turkish Journal of Mathematics, vol. 42, no. 6, pp. 2885-2890, 2018.
[4] J. Mason, "Chebyshev polynomial approximations for the Lmembrane eigenvalue problem," SIAM Journal on Applied Mathematics, vol. 15, no. 1, pp. 172-186, 1967.
[5] S. Bulut and N. Magesh, "On the sharp bounds for a comprehensive class of analytic and univalent functions by means of Chebyshev polynomials," Khayyam Journal of Mathematics, vol. 2, no. 2, pp. 194-200, 2016.
[6] S. Bulut, N. Magesh, and C. Abiram, "A comprehensive class of analytic bi-univalent functions by means of Chebyshev polynomials," Journal of Fractional Calculus and Applications, vol. 8, no. 2, pp. 32-39, 2017.
[7] S. Bulut, N. Magesh, and V. K. Balaji, "Initial bounds for analytic and biunivalent functions by means of Chebyshev polynomials," Journal of Classical Analysis, vol. 11, no. 1, pp. 83-89, 2012.
[8] E. Doha, "The first and second kind Chebyshev coefficients of the moments for the general order derivative on an infinitely differentiable function," International Journal of Computer Mathematics, vol. 51, no. 1-2, pp. 21-35, 1994.
[9] J. Dziok, R. K. Raina, and J. Sokół, "Application des polynomes de Chebyshev a des classes de fonctions analytiques," Comptes Rendus Mathematique, vol. 353, no. 5, pp. 433-438, 2015.
[10] F. M. Saker and E. Dogan, "On initial chebyshev polynomial coefficient problem for certain subclass of bi-univalent functions," Communications in Mathematics and Applications, vol. 11, no. 1, pp. 57-64, 2020.
[11] S. S. Miller and P. T. Mocanu, Differential Subordinations: Theory and Applications, CRC Press, 2000.

